C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

04/19/2021 - 5:41pm

FRANK BENNARDO, P.E.

\\\HIIH/////
/

GRAHAM ARCHITECTURAL PRODUCTS, INC. i, Digitallysigned by

Frank Bennard
GT6700 FIXED/AWNING WINDOW rant bennardo

s : Date:2021.04.19
(LARGE & SMALL MISSILE IMPACT RATED - NON-HVHZ) %‘@SSIONAC@@% 20:14:54 -04'00' FL# 385351

7
TR

04/19/2021 J

fGENERAL NOTES.: 3

1. THIS SYSTEM AND GLASS TYPES DESCRIBED HEREIN COMPLY AND HAVE BEEN DESIGNED AND
TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE SEVENTH EDITION (2020) PER

1 a. ASTM E1996-17 / E1886-12

b. AAMA 506-16

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

1. SITE-SPECIFIC REQUIRED DESIGN PRESSURES SHALL BE CALCULATED BY A LICENSED
PROFESSIONAL ENGINEER FOR USE WITH THIS DOCUMENT PER CURRENT ADOPTED EDITION OF
ASCE 7 AND WITH LOCAL CODE REQUIREMENTS.

2. THIS SYSTEM IS IMPACT RATED FOR WIND ZONE IV, NON-HVHZ.

3. DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED PRESSURES DIVIDED BY A
1.5 SAFETY FACTOR.

4. NO 33-1/3% INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THIS
SYSTEM. WIND LOAD DURATION FACTOR Cd=1.6 HAS BEEN USED FOR WOOD ANCHOR DESIGN.

5. THE ARCHITECT/ENGINEER OF RECORD FOR THE PROJECT SUPERSTRUCTURE WITH WHICH THIS
DESIGN IS USED SHALL BE RESPONSIBLE FOR THE INTEGRITY OF ALL SUPPORTING SURFACES
TO THIS DESIGN WHICH SHALL BE COORDINATED BY THE PERMITTING CONTRACTOR.WOOD
BUCKS (BY OTHERS) SHALL BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE EXISTING
STRUCTURE.

DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

6. THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A
SPECIFIC SITE. FOR SITE CONDITIONS DIFFERENT FROM THE CONDITIONS DETAILED HEREIN, A
LICENSED ENGINEER OR REGISTERED ARCHITECT SHALL PREPARE SITE SPECIFIC DOCUMENTS
FOR USE IN CONJUNCTION WITH THIS DOCUMENT.

7. THE CONTRACTOR IS RESPONSIBLE TO INSULATE ALL MEMBERS FROM DISSIMILAR MATERIALS
TO PREVENT ELECTROLYSIS.

8. FASTENERS SHALL BE CADMIUM-PLATED OR OTHERWISE CORROSION-RESISTANT MATERIAL AND
SHALL COMPLY WITH "SPECIFICATIONS FOR ALUMINUM STRUCTURES" SECTION J.3.7.2 BY THE
ALUMINUM ASSOCIATION, INC., & ANY APPLICABLE FEDERAL, STATE, AND/OR LOCAL CODES

9. ENGINEER SEAL AFFIXED HERE TO VALIDATES STRUCTURAL DESIGN AS SHOWN ONLY. USE OF
THIS SPECIFICATION BY CONTRACTOR, et. al. INDEMNIFIES & SAVES HARMLESS THIS ENGINEER
FOR ALL COST & DAMAGES INCLUDING LEGAL FEES & APPELLATE FEES RESULTING FROM
MATERIAL FABRICATION, SYSTEM ERECTION, & CONSTRUCTION PRACTICES BEYOND THAT
WHICH IS CALLED FOR BY LOCAL, STATE, & FEDERAL CODES & FROM DEVIATIONS OF THIS PLAN.

PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING

10. EXCEPT AS EXPRESSLY PROVIDED HEREIN, NO ADDITIONAL CERTIFICATIONS OR AFFIRMATIONS
ARE INTENDED.

1551 MT. ROSE AVENUE | YORK, PA 17403

11. PRESSURE VALUES ON THIS APPROVAL ARE (ASD) ALLOWABLE DESIGN PRESSURES.

FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

12. ALTERATIONS, ADDITIONS, OR OTHER MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE THIS CERTIFICATION.

13. SAFEGUARDS MUST BE OBSERVED (NOT IN THIS CERTIFICATION)
14. PRODUCT SHALL BE PERMANENTLY LABELED WITH A MINIMUM OF ONE LABEL PER SYSTEM

GRAHAM
ARCHITECTURAL PRODUCTS

CONTAINING THE FOLLOWING: —_
GRAHAM ARCHITECTURAL PRODUCTS, INC w(&
1551 MT. ROSE AVE. SiSl ]
YORK, PA 17403 a3
& / g e
O || ]
S
w
8=
f SHEET INDEX \
# SHEET | DESCRIPTION w
w
<
01 COVER SHEET B
M=)
o
02 ELEVATIONS EEE g
03-04 GLAZING DETAILS & GLASS LOADING TABLES g8 |
05 FRAME LOADING TABLES COPYRIGHT ENGINEERING EXPRESS®
06-09 ANCHOR SCHEDULE & ANCHOR LOADING TABLES - 21-38776
VISIT ECALC.I0/38776 SCAN HERE:
10-14 DETAILS SCALE: NTS UNLESS NOTED
FOR HELPFUL RESOURCES, SITE E
15-16 EXTRUSIONS / PART LIST SPECIFIC JOB ORDERING & MORE 16
INFORMATION ABOUT THIS PRODUCT

\ 16 TOTAL / & RELATED SERVICES — @ ﬂ
(=g



Ramezs
Rectangle

Ramezs
Text Box
12


C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

ELEVATIONS

FRAME WIDTH FRAME WIDTH
D.L.O. WIDTH D.L.O. WIDTH
1 Y1.0Y1.2) 1.3Y1.4Y1.5)
\OAIOALY)/ \10AI0ALY/
iz 5
] = o= :
@@ o 5 4 VY2.1Y4.2 o 3 5 4.3Y4.4Y 4.5
éi ] 13 A 13 A 13 F- /i 13 N13 A 13
= E oI = = T
T = T g
U] ) (U]
— b
T T
w (2 V2.1 g %
< AL <
o o
= ] E
5 .= 5 Y5.1Y5.2 |_LID = 5.3Y5.4X'5.5
EQ oO=x EYNCZNG Ed 95 14 14
g 49 o 48
> aod “rk OoF
= T mm Z (3.3Y3.4Y5.5)
5 l \12A12/ l R2AL2AN12)/

TYPICAL FIXED OVER
PROJECT OUT ELEVATION

INSTRUCTIONS TO DETERMINE DESIGN PRESSURE RATING

STEP@: USE THE GLASS LOADING TABLES TO DETERMINE THE ALLOWABLE PRESSURE OF THE GLASS.
STEP@: USE THE FRAME LOADING TABLE TO DETERMINE THE ALLOWABLE PRESSURES.

STEP@:THE MINIMUM VALUE BETWEEN STEP @ AND STEP @ WILL DETERMINE THE DESIGN LOAD PRESSURE FOR THE WINDOW SYSTEM.

TYPICAL FIXED OVER
PROJECT OUT ELEVATION
WITH RECEPTOR

FRANK BENNARDO, P.E.

04/19/2021 J

FL# 38535.1

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

MAX D.L.O. AREA FOR FIXED UNIT = 22.2 SQ. FT.
MAX D.0O.0. AREA FOR VENT UNIT = 11.13 SQ. FT.

MAXIMUM ALLOWABLE DESIGN PRESSURES:

+70 PSF, -90 PSF

04/19/2021 - 5:42pm

1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING
FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

GRAHAM
ARCHITECTURAL PRODUCTS

04/01/21

DRWN|CHKD | DATE
AJP

TAE

REMARKS
FBC 2020 UPDATE

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

16

02




C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

04/19/2021 - 5:42pm

0.090 SOLUTIA PVB INTERLAYER

3/16" ANNEALED GLASS

3/16" ANNEALED GLASS EXTERIOR

5/8" METAL BOX SPACER

’_1/211

1 1/4" NOMINAL

GLASS TYPE @

GLAZING DETAIL

N.T.S.

GLASS RATING:
LARGE MISSILE IMPACT
MISSILE LEVEL D

GLASS TYPES

NOTE: GLASS SIZE = DLO + 1"

3/16" ANNEALED GLASS

NOTE:
GLAZING TYPE COMPLIES WITH
ASTM E1300 REQUIREMENTS .

0.060 SOLUTIA PVB INTERLAYER
3/16" ANNEALED GLASS
3/16" ANNEALED GLASS EXTERIOR

5/8" METAL BOX SPACER \

1 1/4" NOMINAL

GLAZING DETAIL

N.T.S.

GLASS RATING:
SMALL MISSILE IMPACT
MISSILE LEVEL A

FRANK BENNARDO, P.E.
PE# 0046549 CA. 9885

= - FLORIE
/’%\ SsionaL. G

ot

04/19/2021 J

FL# 38535.1

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING
FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

GRAHAM
ARCHITECTURAL PRODUCTS

04/01/21

DRWN|CHKD | DATE
TAE |AJP

REMARKS
FBC 2020 UPDATE

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

16

0S8 |




(" 1202/61/+0 - MO SSTHIXAONTHATINIONS (0202) NOILIA3 HLZ 3A0D DNIATING YAIHO1d B m ) )
b L 5 WOD'SSTUAXIDNIYIINIDONI®O WYL VAOUddY 3AIMALYLS VAINOTS m O m i

nm. % ove mmmm_.w_mmm_ow <_ mmo.mm mA_vm_vxm_m_o ONINMY ¥3IA0 @3XI4 00£91D S3ATY3S : W 2 4

85 R | 901 311nS ‘aAV uizT MS 09T ,0018-6v8 (£1£) :Hd Loz

an 3 “ 301440 ILVHOdHOD €0¥LT Vd MYOA | INNIAY 3SOY "LIW TSST g oﬂ m @

=% 0 S10Nd0dd TVAdNLOILIHOYY : T 15| |4

i WYHVHO P — o I

L
o ™
=2 )
N olo|lo|lo|o|o|lo|lo|olo|o|olo|lo|lo|o|o|lo|o|olo|ololo
N o ||| | oo | oo | od|a|o| o | dd|e|e| s e
R )
o L
L
0 ;
e} w
< 0
= . ololo|lo|lo|lo|o|o|olo|o|lolo|o|lo|lolo|o|lolo|lo|lo|lo|o
@) o M RIKRIR|IR R IR R (IR R IRIR R KRR (R R R R R ||
—l ~
)
| X
=
.= © 0 ©
O < < <
" T (g~ |o|N|o|d|O|x|o|s|—|o|la|o|d|O|s||—|0|N|o|< |0
N S E |[N|o|o|SF|F[(0|HORN|omd <t |F|O|S|O|N|o|d|<|F[OS
0)] L [ag=) g) s} red
LLl > =
1 "
o) 2 <
c [
< = I A
< o = o © N G a3
_I R < < [T9) EMM
g T
0 o 2
p = <z
H_._L
E o
a 2z
A =0
)]
w } oz
@) | uw 49
- 2 n oOn
N ! ololo|o|lo|olo|o|lolo|o|olo|o|o|lolo|o|olo|o|lo|lo|lo|o|olo ..z
% o SIS I A R A ks R A ke R R A s A R A R A ks A R A kA ks N R A ke A ks A R A R A R A k=) g
0p) x| ~ o=
[NN]
< 2| w
| < %
Q) = o ololo|lo|lo|o|lo|lo|olo|o|olo|o|o|lo|lo|lo|olo|o|lo|lo|lo|o|olo
o MRIRINRIR IR IR RN IR IR N RINR IR IR IR R KKK
— ~
|
<| X
=
= © © 0
O ~ ~ ~
" T (g~ |o|N|o|d|O|d|o|t|~|o|la|o|d|B|x|o|d|~|o|n|o|s |||
n T E (N[Ot |F|O[L[O|R|[N[ DT [F|O|SH[O|R|N[m DS [F|0O|H|O|=
Ll n o
o W w w0 0
>
T
S —
2 =
L N—
© Ok < - ©
i N ™ ™
oY
L
T

Bmp*(¥S4 0202) Bulumy™ paxi4 002919 A9//8€-12\8¥2. usliandov\dwaeoo|\ejepdde\wsofisiosn\:0 waol  wdgy:S - 1202/61/70



C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

FRAME LOADING TABLES

FIXED OVER AWNING

ALLOWABLE PRESSURES

FIXED OVER AWNING

ALLOWABLE PRESSURES

FIXED OVER AWNING
ALLOWABLE PRESSURES

FIXED OVER AWNING
ALLOWABLE PRESSURES

FRANK BENNARDO, P.E.
PE# 0046549 CA. 9885

04/19/2021 J

FL# 38535.

1

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM

ENGINEERINGEXPRESS.COM

oRAME | FRAME oo eliypse| | RAME | FRAME o el b | | RAME | FRAME |kl | (RAME | FRAME okl ypsie
24 70 90 24 70 90 24 70 90 24 70 90
30 70 90 30 70 90 30 70 90 30 70 90
36 70 90 36 70 90 36 70 90 36 70 90
42 70 90 42 70 90 42 70 90 90 42 70 90
26 48 70 90 54 48 70 90 72 48 70 90 48 70 90
54 70 90 54 70 90 54 70 90 54 70 90
60 70 90 60 70 90 60 70 90 60 70 90
66 70 90 66 70 90 66 63 81 24 70 90
72 70 90 72 70 90 72 58 75 30 70 90
78 70 90 78 70 90 78 58 75 36 70 90
24 70 90 24 70 90 24 70 90 96 42 70 90
30 70 90 30 70 90 30 70 90 48 70 90
36 70 90 36 70 90 36 70 90 54 70 90
42 70 90 42 70 90 42 70 90 60 70 90
4 48 70 90 50 48 70 90 8 48 70 90
54 70 90 54 70 90 54 70 90
60 70 90 60 70 90 60 70 90
66 70 90 66 70 90 66 63 81
72 70 90 72 70 90 72 58 75
78 70 90 78 70 90 24 70 90
24 70 90 24 70 90 30 70 90
30 70 90 30 70 90 36 70 90
36 70 90 36 70 90 84 42 70 90
42 70 90 42 70 90 48 70 90
48 48 70 90 56 48 70 90 54 70 90
54 70 90 54 70 90 60 70 90
60 70 90 60 70 90 66 63 81
66 70 90 66 63 81
72 70 90 72 63 81
78 70 90 78 63 81

04/19/2021 - 5:42pm

GRAHAM
ARCHITECTURAL PRODUCTS
1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING

FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

04/01/21

DRWN|CHKD | DATE

TAE |AJP

FBC 2020 UPDATE

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

16

0%

J




C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

i
REFER TO .
ANCHOR CHARTS\—/

FASTENER SCHEDULE

|

| SPACING PER
ANCHOR CHARTS

! 8" MAX.
T FROM CORNER

8" MAX. FROM
CORNER TYP

y
I
N\

o
< &
D‘%—o—-
00
Z
oNe)
<(I—0—_
a0
n =

<

FRANK BENNARDO, P.E.
PE# 0046549 CA. 9885

04/19/2021 J

FL# 38535.1

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

GRAHAM
ARCHITECTURAL PRODUCTS

1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING
FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

04/01/21

DRWN|CHKD | DATE

TAE |AJP

REMARKS

FBC 2020 UPDATE

COPYRIGHT ENGINEERING EXPRESS®

ANCHOR SCHEDULE
N MIN.
ANCHOR | ANCHOR : EDGE
TYPE |DIAMETER TYPE SUBSTRATE EMB'Z';';"ENT DISTANCE
(IN)
. POURED CONCRETE ] ]
A 3/16 TAPCON JRED COICR 1-1/4 2-1/2
16 GA. MIN. STUD ASTM
B #10-16 SELF DRILLING SCREW A-653 GRADE 33 STEEL 33\25?55 1/2
) 1/8" STEEL-A36 THREAD PLANE
1/8" ALUMINUM-6063-T6
c 410 WOOD SCREW 2X WOOD BGU=COK5(§YP#2 MIN.) 11/ 3/

21-38776

SCALE: NTS UNLESS NOTED

04/19/2021 - 5:42pm

16

06 |




C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

ANCHOR CHARTS

FRANK BENNARDO, P.E.

N BE

PE# 0046549 CA. 9885

04/19/2021 J

FL# 38535.1

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

DEERFIELD BEACH, FL 33442
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM

ENGINEERINGEXPRESS.COM

GRAHAM
ARCHITECTURAL PRODUCTS
1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING

FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

04/01/21

TYPE A (CONCRETE) TYPE B (METAL) TYPE C (WOOD)
DESIGN PRESSURE = DESIGN PRESSURE = DESIGN PRESSURE =
= - 90 PSF 90 PSF 90 PSF
S 5
w= w = 02 o2 02 o2 -0Z2 oz
2 S | 83g|8%c |23c|8%s | 2%c | £3g
< “ 92F | 235 | 935 | 235 | 938 | 238
235 | 33 | B35 | S35 | 35| Cis
s v ] g g = sv
24 24 0.C 290.C 250.C 300.C 22 0.C 27 O.C.
30 24 0.C 24 0.C. 250.C 250.C 22 0.C 22 0.C.
36 24 O.C. 21 0.C. 250.C 22 0.C. 22 0.C. 19 0.C.
42 24 O.C. 19 0.C. 250.C 20 0.C. 22 O.C. 17 O.C.
24 48 24 0.C. 18 O.C. 250.C 18 O.C. 22 0.C. 16 O.C.
54 24 O.C. 17 O.C. 250.C 17 O.C. 22 0.C. 15 0.C.
60 24 O.C. 16 O.C. 250.C 16 O.C. 22 O.C. 14 O.C.
63 24 0.C. 16 O.C. 250.C 16 O.C. 22 0.C. 14 O.C.
66 24 O.C. 16 O.C. 250.C 16 O.C. 22 0.C. 14 O.C.
78 24 O.C. 150.C. 250.C 16 O.C. 22 O.C. 13 0.C.
24 19 0.C. 29 O.C. 200.C 300.C. 17 O.C. 27 O.C.
30 19 0.C. 24 0.C. 200.C 25 0.C. 17 O.C. 22 0.C.
36 190.C. 21 0.C. 200.C 22 O.C. 17 O.C. 19 0.C.
42 19 0.C. 19 0.C. 200.C 20 0.C. 17 O.C. 17 O.C.
48 19 0.C. 18 O.C. 200.C 18 O.C. 17 O.C. 16 O.C.
30 54 190.C. 17 O.C. 200.C 17 O.C. 17 O.C. 150.C.
60 19 0.C. 16 O.C. 200.C 16 O.C. 17 O.C. 14 O.C.
63 19 0.C. 16 O.C. 200.C 16 O.C. 17 O.C. 14 O.C.
66 19 O.C. 16 O.C. 200.C 16 O.C. 17 O.C. 14 O.C.
78 19 0.C. 150.C. 200.C 16 O.C. 17 O.C. 13 0.C.
24 16 O.C. 29 0.C. 17 0.C 300.C. 14 0.C. 27 O.C.
30 16 O.C. 24 O.C. 17 0.C 25 0.C. 14 O.C. 22 0.C.
36 16 O.C. 21 0.C. 17 0.C 22 O.C. 14 O.C. 19 0.C.
42 16 O.C. 19 0.C. 17 0.C 20 0.C. 14 O.C. 17 O.C.
36 48 16 O.C. 18 O.C. 17 0.C 18 O.C. 14 O.C. 16 O.C.
54 16 O.C. 17 O.C. 17 0.C 17 O.C. 14 O.C. 150.C.
60 16 O.C. 16 O.C. 17 0.C 16 O.C. 14 0.C. 14 O.C.
63 16 O.C. 16 O.C. 17 0.C 16 O.C. 14 O.C. 14 O.C.
66 16 O.C. 16 O.C. 17 0.C 16 O.C. 14 O.C. 14 O.C.
78 16 O.C. 15 0.C. 17 0.C 16 O.C. 14 O.C. 13 0.C.

DRWN|CHKD | DATE

TAE |AJP

FBC 2020 UPDATE

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

TYPE A (CONCRETE) TYPE B (METAL) TYPE C (WOOD)
DESIGN PRESSURE = | DESIGN PRESSURE = | DESIGN PRESSURE =
= T 90 PSF 90 PSF 90 PSF
S 5
g E ; E e —~ e —~ o —~ o —~ e —~ e ~
w= w = 02 o2 02 o2 -0Z2 oz
3 S |28g |88c |28c |8%c |2%e |83c
£ & o9%2 | 232 | 0%Z2 | 232 | o0%Z | 2%2
835 | %5 | B35 |35 | %3g| i
S| =6 S6 | =0 S| =4
24 14 0.C 290.C 14 0.C 300.C 120.C 27 0.C.
30 14 0.C 24 0.C. 140.C 250.C 120.C 22 0.C.
36 140.C 210.C. 140.C 22 0.C. 120.C 190.C.
42 14 0.C 190.C. 14 0.C 200.C. 120.C 170.C.
47 48 14 0.C 18 0.C. 140.C 18 0.C. 120.C 16 O.C.
54 140.C 17 0.C. 140.C 17 0.C. 120.C 150.C.
60 14 0.C 16 O.C. 140.C 16 O.C. 120.C 14 O.C.
63 14 0.C 16 O.C. 140.C 16 O.C. 120.C 14 0.C.
66 140.C 16 O.C. 140.C 16 O.C. 120.C 14 0.C.
78 14 0.C 150.C. 14 0.C 16 O.C. 120.C 130.C.
24 14 0.C 29 0.C. 130.C 300.C. 120.C 27 0.C.
30 140.C 24 0.C. 130.C 250.C. 120.C 22 0.C.
36 120.C 210.C. 130.C 22 0.C. 100.C 190.C.
42 120.C 190.C. 130.C 200.C. 100.C 170.C.
48 120.C 18 0.C. 130.C 18 0.C. 100.C 16 O.C.
8 54 120.C 17 0.C. 130.C 17 0.C. 100.C 150.C.
60 120.C 16 O.C. 130.C 16 O.C. 100.C 14 O.C.
63 120.C 16 O.C. 130.C 16 O0.C. 100.C 14 0.C.
66 120.C 16 O.C. 130.C 16 O.C. 100.C 14 0.C.
78 120.C 150.C. 130.C 16 O.C. 100.C 130.C.
24 140.C 29 0.C. 16 0.C 300.C. 120.C 27 0O.C.
30 140.C 24 0.C. 16 0.C 250.C. 120.C 22 0.C.
36 120.C 210.C. 130.C 22 0.C. 100.C 190.C.
42 120.C 190.C. 130.C 200.C. 100.C 17 0.C.
c4 48 120.C 18 0.C. 130.C 18 0.C. 100.C 16 O0.C.
54 120.C 17 0.C. 130.C 17 0.C. 100.C 150.C.
60 120.C 16 O0.C. 130.C 16 O.C. 100.C 14 0.C.
63 120.C 16 O0.C. 130.C 16 O.C. 100.C 14 0.C.
66 120.C 16 O.C. 130.C 16 O.C. 100.C 14 O.C.
78 120.C 150.C. 130.C 16 O.C. 100.C 130.C.

04/19/2021 - 5:42pm

07 |

16




C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

04/19/2021 - 5:42pm

FRANK BENNARDO, P.E. \
PE# 0046549 CA. 9885
ANCHOR CHARTS BN, N
(@)
q
[e))
2
<
TYPE A (CONCRETE) TYPE B (METAL) TYPE C (WOOD) TYPE A (CONCRETE) TYPE B (METAL) TYPE C (WOOD) =
DESIGN PRESSURE = | DESIGN PRESSURE = | DESIGN PRESSURE = DESIGN PRESSURE = | DESIGN PRESSURE = | DESIGN PRESSURE =
= T 90 PSF 90 PSF 90 PSF = T 90 PSF 90 PSF 90 PSF
[ I - O N
] o © ) =R
Tz Sz x ~ x ~ x ~ o ~ o ~ o ~ Tz Sg & — & —~ & —~ & — & —~ € —~ ERe35
w= &= 402 o2 .02 oz2 402 oz w u= -0 2 o= .02 o2 .02 oz W= 80l
2 ZS | 33; |8de |33c | 839 | 239 | 83¢ 2 S | 35g |8de |33c |83g |33e | 83¢
] O O o0 O L) ] L) O 1] O (O] 2] (O] L) 2] L) L roxy
& 3 g2z | 522 | g2z |52z | g2z | =2z o & g2z | 522 | g2z |52z | g2z |52z LGBt
<00 | €00 | €00 | €00 | €200 | €20 <0 | €00 | €200 | €00 | €0 | €°0 0 kg <54
835 | 35 | B3 | S%s | B33 |53 835 | 35 | B3 | S%s | B38| 35
s& s& s& s & s& s& s& s & s & 47 S5 s & $50358
oTWseE
24 14 0.C 290.C 16 0.C 300.C 12 0.C 27 O.C. 24 14 0.C 29 0.C 16 0.C 300.C. | 120.C 27 O.C. Lz
[11] [
30 14 0.C 24 0.C 16 0.C 250.C 12 0.C 22 0.C. 30 14 0.C 240.C. | 160.C 250.C. | 120.C 22 0.C. gu
36 120.Cc. | 210.C. | 130.C 220.C. | 100.Cc. | 190.C. 36 120.Cc. | 210.Cc. | 130.C 220.C. | 100.C 19 0.C.
42 120.C. | 190.Cc. | 130C 200.C. | 100.C. | 170.C. 42 120.Cc. | 190.Cc. | 130.C 200.C. | 100.C 17 0.C. N
- 48 120.Cc. | 180.Cc. | 130.C 180.C. | 100.C. | 160.C. - 48 120.Cc. | 180.Cc. | 130.C 180.C. | 100.C 16 O.C. b -
54 120.Cc. | 170.Cc. | 130.C 170.C. | 100.Cc. | 150.C. 54 120.Cc. | 170.Cc. | 130.C 170.C. | 100.C 15 0.C. S8 S
~N ~—
60 120.C. | 160.Cc. | 130.C 160.C. | 100.Cc. | 140.C 60 120.C. | 160.C. | 130.C 160.C. | 100.C 14 0.C. 8 . é 2z
[y > =
63 120.C. | 160.C. | 130.C 160.C. | 100.Cc. | 140.C. 63 120.C. | 160.Cc. | 130.C 160.C. | 100.C 14 0.C. & vo|22E
X o o
66 120.C. | 160.Cc. | 130.C 160.C. | 100.Cc. | 140.C 66 120.C. | 160.Cc. | 130.C 160.C. | 100.C 14 0.C. =093 % %
78 120.Cc. | 150.Cc. | 130.C 160.C. | 100.Cc. | 130.C. 78 120.Cc. | 150.C. | 130.C 160.C. | 100.C 13 0.C. % 3:' wglg 2 ~
— [a)]
24 140.C. | 290.C. | 160.C 300.C. | 120.Cc. | 270.C. 24 140.C. | 290.Cc. | 160.C 300.C. | 120.C 27 0.C. é % g5| & e
~ o
30 140.C. | 240.C. | 160.C 250.C. | 120.Cc. | 220.C. 30 140.C. | 240.C. | 160.C 250.C. | 120.C 22 0.C. O ; o 5 2
36 120.C. | 210.C. | 130C 220.C. | 100.Cc. | 190.C. 36 120.Cc. | 210.C. | 130C 220.C. | 100.C 19 0.C. B g" § g %
42 12 O.C. 19 O.C. 130.C 20 0.C. 10 O.C. 17 O.C. 42 120.C. 190.C. 130.C 200.C. 100.C 170.C. = s % o2
63 48 120.Cc. | 180.Cc. | 130.C 180.C. | 100.Cc. | 160.C. - 48 120.C. | 180.Cc. | 130.C 180.C. | 100.C 16 O.C. 5 2 |° %
54 120.Cc. | 170.Cc. | 130.C 170.C. | 100.Cc. | 150.C. 54 120.Cc. | 170.Cc. | 130C 170.C. | 100.C 15 0.C. & T
60 120.Cc. | 160.Cc. | 130.C 160.C. | 100.Cc. | 140.C. 60 120.C. | 160.Cc. | 130.C 160.C. | 100.C 14 0.C. <
63 120.C. | 160.C. | 130.C 160.C. | 100.C. | 140.C. 63 120.C. | 160.C. | 130.C 160.C. | 100.C 14 0.C. _
66 120.c. | 160.c. | 130.C. | 160.Cc. | 100.C. | 140.C 66 120.Cc. | 160.Cc. | 130.Cc. | 160.C. | 100.C. | 140.C. £
78 120.C. | 150.Cc. | 130.C 160.C. | 100.Cc. | 130.C. 78 120.Cc. | 150.C. | 130.C 160.C. | 100.C 130.C. R
24 140.C. | 290.C. | 160.C 300.c. | 120.Cc. | 270.C. 24 140.C. | 280.C. | 160.C 300.C. | 120.C 26 0.C. 5<
30 14 0.C. 24 0.C. 16 0.C 250.C. 12 O.C. 22 0.C. 30 140.C. 24 0.C. 16 0.C 250.C 120.C 22 0.C. g
36 120.C. | 210.Cc. | 130C 220.C. | 100.Cc. | 190.C. 36 120.C. | 210.C. | 130.C 220.Cc. | 100.C 19 0.C.
42 12 O.C. 19 O.C. 13 0.C 200.C. 10 O.C. 17 O.C. 42 120.C. 190.C. 130.C 200.C. 100.C 17 0.C. =
48 120.C. | 180.Cc. | 130.C 180.C. | 100.Cc. | 160.C. 28 48 120C | 170.C | 130.C 180.C. | 100.C 150.C. B
66 54 12 0.C. 17 O.C. 130.C 17 O.C. 10 O.C. 15 O.C. 54 120.C. 16 0.C. 130.C 170.C. 100.C 14 0.C. E S
60 120.C. | 160.Cc. | 130.C 160.C. | 100.Cc. | 140.C. 60 120.C. | 160.C. | 130C 160.C. | 100.C 140.C.
63 120C | 160C | 130C | 160C | 100C | 140cC 63 120.C. | 150.C. | 130.C. | 160.C. | 100.C. | 130.C. 21-38776
66 120.C. | 160.C. | 130.C. | 160.C. | 100.C. | 140cC 66 120.€. | 150.C. | 130.C. | 160.C. | 100.C. | 130.C s
78 12 0.C. 15 O.C. 130.C 16 O.C. 10 O.C. 13 0.C. /8 120.C. 150.C. 130.C 16 O.C. 100.C 130.C. ' 16
: E y,




C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

ANCHOR CHARTS

FRANK BENNARDO, P.E.

.....

\\&;.\.-_. N A;

04/19/2021 J

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING
FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

GRAHAM
ARCHITECTURAL PRODUCTS

04/01/21

TYPE A (CONCRETE) TYPE B (METAL) TYPE C (WOOD)
DESIGN PRESSURE = DESIGN PRESSURE = DESIGN PRESSURE =
= T 90 PSF 90 PSF 90 PSF
C )
Iz | 2% co | xo| x=| x| == | @=
w = ~ 402 o2 02 o2 02 o2
= 2 33s | 955 | 355 | 855 | 355 | 853
e & 822 | S22 | g%22 | =22 | g%z | =2z
= x LTx 9 Sx 9 LIx 9 S x g LTx 9
TS| S& | TS&| 5% | TS% | S5
24 14 O.C. 28 0.C 16 O.C 300.C 12 O.C. 26 O.C.
30 14 O.C. 23 0.C. 16 O.C. 25 0.C. 12 O.C. 21 0.C.
36 12 O.C. 20 0.C. 13 O.C. 21 0.C. 10 O.C. 18 O.C.
42 12 O.C. 18 O.C. 13 O.C. 19 O.C. 10 O.C. 16 O.C.
84 48 12 O.C. 17 O.C. 13 0.C. 18 O.C. 10 O.C. 15 O.C.
54 12 O.C. 16 O.C. 13 O.C. 17 O.C. 10 O.C. 14 O.C.
60 12 O.C. 15 O.C. 13 O.C. 16 O.C. 10 O.C. 13 O.C.
63 12 O.C. 15 O.C. 13 O.C. 15 O.C. 10 O.C. 13 O.C.
66 12 O.C. 14 O.C. 13 O.C. 15 O.C. 10 O.C. 12 O.C.
78 12 O.C. 14 O.C. 13 O.C. 15 O.C. 10 O.C. 12 O.C.
24 14 O.C. 28 O.C. 16 O.C. 29 O.C. 12 O.C. 26 O.C.
30 14 O.C. 23 0.C. 16 O.C. 24 O.C. 12 O.C. 21 0.C.
36 12 O.C. 20 0.C. 13 O.C. 21 0.C. 10 O.C. 18 O.C.
42 12 O.C. 18 O.C. 13 0.C. 19 O.C. 10 O.C. 16 O.C.
48 12 O.C. 16 O.C. 13 O.C. 17 O.C. 10 O.C. 14 O.C.
20 54 12 O.C. 15 O.C. 13 O.C. 16 O.C. 10 O.C. 13 0.C.
60 12 O.C. 14 O.C. 13 O.C. 15 O.C. 10 O.C. 12 O.C.
63 12 O.C. 14 O.C. 13 O.C. 15 O.C. 10 O.C. 12 O.C.
66 12 O.C. 14 O.C. 13 O.C. 15 O.C. 10 O.C. 12 O.C.
78 12 O.C. 13 O.C. 13 O.C. 14 O.C. 10 O.C. 11 O.C.
24 14 O.C. 27 O.C. 16 O.C. 29 O.C. 12 O.C. 25 0.C.
30 14 O.C. 23 0.C. 16 O.C. 24 O.C. 12 O.C. 21 0.C.
36 12 O.C. 20 0.C. 13 O.C. 21 0.C. 10 O.C. 18 O.C.
42 12 O.C. 18 O.C. 13 0.C. 19 O.C. 10 O.C. 16 O.C.
96 48 12 O.C. 16 O.C. 13 O.C. 17 O.C. 10 O.C. 14 O.C.
54 12 O.C. 15 O.C. 13 O.C. 16 O.C. 10 O.C. 13 0.C.
60 12 O.C. 14 O.C. 13 0.C. 15 O.C. 10 O.C. 12 O.C.
63 12 O.C. 14 O.C. 13 O.C. 14 O.C. 10 O.C. 12 O.C.
66 12 O.C. 13 O.C. 13 O.C. 14 O.C. 10 O.C. 11 O.C.
78 12 O.C. 12 O.C. 13 0.C. 13 O.C. 10 O.C. 10 O.C.

DRWN|CHKD | DATE

TAE |AJP

FBC 2020 UPDATE

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

04/19/2021 - 5:42pm

16

09 |




C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

-] —3/16" ITW TAPCONS WITH
1-1/4" MIN. EMBEDMENT INTO
3000 Psi. CONCRETE MIN. AND
2-1/2" MIN. EDGE DISTANCE.

1/4"

MAX.

l

PERIMETER
CAULK BY
OTHERS

Y
~
)
[

I
(o]
|
[a)

I

1

T ———————— #10 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

HEAD DETAIL

PRE-SET PANNING
SCREW APPLIED BEAD

k.

- ]—3/16" ITW TAPCONS WITH
1-1/4" MIN. EMBEDMENT INTO
3000 Psi. CONCRETE MIN. AND
2-1/2" MIN. EDGE DISTANCE.

1/4"

PERIMETER CAULK
BY OTHERS

|

MAX.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

—DLO——15/8"

1.3

HEAD DETAIL

RECEPTOR

SEE ELEVATIONS FOR SPACING.

HEAD DETAILS

#10 WOOD SCREWS WITH 1-1/2"
/_ MIN. PENETRATION INTO WOOD

BUCK (SYP#2 MIN. G=.55). AND
3/4" MIN. EDGE DISTANCE. SEE

ELEVATIONS FOR SPACING.

INAWARRRAR =g

l

PERIMETER
CAULK BY

OTHERS

SEE ELEVATIONS FOR SPACING.

o
~
)
I

I
(@]
'
[a)

I

PERIMETER CAULK

W

HEAD DETAIL

1 ' 1 PRE-SET PANNING
SCREW APPLIED BEAD

T #10 SELF DRILLING SCREW

INSTALLATION ANCHOR 12" O.C.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

#10 WOOD SCREWS WITH 1-1/2"
L MIN. PENETRATION INTO WOOD
BUCK (SYP#2 MIN. G=.55). AND
3/4" MIN. EDGE DISTANCE. SEE

ELEVATIONS FOR SPACING.

BY OTHERS

—DLO——15/8"

HEAD DETAIL

1.4

RECEPTOR

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

NOTE: REFER TO SYSTEM INSTALLATION MANUAL
FOR FABRICATION AND ASSEMBLY INSTRUCTIONS.

PERIMETER
CAULK BY
OTHERS

METAL SUBSTRATE. 3 PINCHES MIN.
PASSED THE THREAD PLANE AND
1/2" MIN. EDGE DISTANCE. SEE

= ELEVATIONS FOR SPACING.

/— #10-16 SELF TAPPING SCREWS INTO

1/4"

©
~
n
I

I
(@]
|
[a)

I

PERIMETER CAULK
BY OTHERS

1

&

6

10\_@

HEAD DETAIL

1 ' 2 PRE-SET PANNING
SCREW APPLIED BEAD

“max.

T #10 SELF DRILLING SCREW

INSTALLATION ANCHOR 12" O.C.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

#10-16 SELF TAPPING SCREWS INTO
/_ METAL SUBSTRATE. 3 PINCHES MIN.
PASSED THE THREAD PLANE AND
1/2" MIN. EDGE DISTANCE. SEE
= ELEVATIONS FOR SPACING.

—DLO——15/8"

HEAD DETAIL

1.5

RECEPTOR

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

FRANK BENNARDO, P.E.
PE# 0046549 CA. 9885

o SRS

ot

04/19/2021 J

FL# 38535.1

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

GRAHAM
ARCHITECTURAL PRODUCTS
1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING
FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

04/01/21

DRWN|CHKD | DATE

TAE |AJP

FBC 2020 UPDATE

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

16

10

04/19/2021 - 5:42pm




(" 1202/61/%0 - O SSTHIXAONTHATNIONS (0z02) NOILIA3 H1Z 30D SNIATING VATHO1S % gl @ )
i =
gy 4 5 WOD'SSFUXIDNIYIINIONIOWYIL VAOUddV 3AIMALYLS VAINOTS | O m
uit e 6666-96¢ (998) | 0990-+5E (v56) ONINMY ¥3A0 GIXI4 00£919 SIS 1IN
o8 2| @ | zvvee 14 ‘HOvaa aiarawaza . IS g N
hE 2 | 901 31INS ‘IAV UIZT MS 09T ,0018-6v8 (£17) :Hd 14E
D P 1301340 FLYHOAN0D £0VLT Vd ‘YHOA | INNIAY 3SOY LW TSST 5| ™ |2
sl LA % 1% =
B¢ Sl S10Nd0¥d TVdN1LOd1IHO™Y . T 15| |a
z° 12/L0/v0|  drv| 3vl 31vadn 0202 084 M <
mm _\/_<—|—<mw 31va | A¥HO|NMYA SHUVINTY | 8 “
[a)]
&
(O3]
Z04
252
2%
L ©
228 =
S_._._H
xO <
L2
@ #N< H
© A O a
LI
T
<
[—)
o
i
=
a4
L
T
=
—
i
~
0 —o01a W8/ ¥ o1a— 2 %
)
- z 2
O
< =2
=
= o5
L kS
O eE
it
99}
-l Z9
<L = <
[a)
= E
Z =
0z
O o9
N %S
. o
a'd @O
<
2 s
o
L 29
_
<
T
m
(@)
L
T
<
[—)
|
i
=
(2’
L
T
=
b
@
—01a W.8/T Y o1a—

Bmp (S 0202) Bulumy paxi4 002919 A9//8€-12\8¥2. usliandov\dwaeoo|\ejepdde\wsolisiosn\:0 waol  wdeys - 1202/61/70



C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

FRANK BENNARDO, PE. )
PE# 0046549 CA. 9885
SILL DETAILS SN, N
N
o
N
S~
o
i
s S
' l [ 17 8 4 8 °
9 9 9 S
a a a 9 P et g
. — w ™ ég
. Mg0
o 13 Wm " EG0
2 o578 3%y
[T L eln
0 5. rekY
~ o
% % ) wosse
0 ] 4 8 S e2x
o #8 SELF DRILLING SCREW ™ i #8 SELF DRILLING SCREW M #8 SELF DRILLING SCREW é < w o 5 V]
INSTALLATION ANCHOR 12" O.C. ; INSTALLATION ANCHOR 12" O.C. INSTALLATION ANCHOR 12" O.C. S-om8iz
#10 SELF DRILLING SCREW /— #10 SELF DRILLING SCREW #10 SELF DRILLING SCREW & + [a) < G 5
INSTALLATION ANCHOR 12" O.C. INSTALLATION ANCHOR 12" O.C. INSTALLATION ANCHOR 12" O.C. SN IB2L
k O W =gz
] i
= 4 =0
v = R 1 T % L ez 2
1
PERIMETER MAX. PERIMETER b MAX. PERIMETER MAX. TR
CAULK BY CAULK BY I~ CAULK BY ow
OTHERS OTHERS :: OTHERS o] [a)
1\ ‘_'
@ =
™~ 3/16" ITW TAPCONS WITH \I\ ¥ #10 WOOD SCREWS WITH 1-1/2" \F ¥ #10-16 SELF TAPPING SCREWS INTO l—
1-1/4" MIN. EMBEDMENT INTO MIN. PENETRATION INTO WOOD METAL SUBSTRATE. 3 PINCHES MIN. —
3000 Psi. CONCRETE MIN. AND BUCK (SYP#2 MIN. G=.55). AND PASSED THE THREAD PLANE AND Q =)
2-1/2" MIN. EDGE DISTANCE. 3/4" MIN. EDGE DISTANCE. SEE 1/2" MIN. EDGE DISTANCE. SEE g o
SEE ELEVATIONS FOR SPACING. ELEVATIONS FOR SPACING. ELEVATIONS FOR SPACING. D < 8
N (U] ~
SILL DETAIL SILL DETAIL SILL DETAIL Q- |2 2z
2 2.1 2.2 O |38
PRE-SET PANNING ' L JPRE-SET PANNING ' £ JPRE-SET PANNING - |=z=a8E
SCREW APPLIED BEAD SCREW APPLIED BEAD SCREW APPLIED BEAD (a'd 29 <xn
SQgS|gss
<J-&f3 M
f— w
)]
ws|la™
I < 2®|1W = w
XER|ZE6
< N Enl—ge]
o DIR|gEa
Eoo|ehe
.. zZ
| I | 17 8) (4 O gzle<s
o o o U Ca (G a)
9 9 pur] 9 4 b
a o o [ nes
— = W om
= o
CI — 4o <
2 I3 =
O - S
-
= = = m [T
ee] o] 2o}
= & & 8 <
™ #8 SELF DRILLING SCREW ™ #8 SELF DRILLING SCREW ™ —
INSTALLATION ANCHOR 12" O.C. INSTALLATION ANCHOR 12" O.C.
3 #8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C. w I
==
HEREaE
o<
PERIMETER PERIMETER PERIMETER S
i gt g g
p— = f o
== L 1/4" . S “R_va — R va 5120,
N T MAX. W MAX. MAX. =z
N z |4
< S ..
S
\\
T~ 3/16" ITW TAPCONS WITH [~ #10 WOOD SCREWS WITH 1-1/2" N— #10-16 SELF TAPPING SCREWS INTO w
1-1/4" MIN. EMBEDMENT INTO MIN. PENETRATION INTO WOOD METAL SUBSTRATE. 3 PINCHES MIN. ';:
3000 Psi. CONCRETE MIN. AND BUCK (SYP#2 MIN. G=.55). AND PASSED THE THREAD PLANE AND E
2-1/2" MIN. EDGE DISTANCE. 3/4" MIN. EDGE DISTANCE. SEE 1/2" MIN. EDGE DISTANCE. SEE 2|5
SEE ELEVATIONS FOR SPACING. ELEVATIONS FOR SPACING. ELEVATIONS FOR SPACING. 4]
I8
wQ
| | ]
7.3 SILL DETAIL 7.4 SILL DETAIL .5 SILL DETAIL COPYRIGHT ENGINEERING EXPRESS®
'~ /RECEPTOR * '/RECEPTOR '~ JRECEPTOR 21-38776
SCALE: NTS UNLESS NOTED
NOTE: REFER TO SYSTEM INSTALLATION MANUAL 16
FOR FABRICATION AND ASSEMBLY INSTRUCTIONS. ﬂ 2

04/19/2021 - 5:43pm




C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

3/16" ITW TAPCONS WITH
1-1/4" MIN. EMBEDMENT INTO
3000 Psi. CONCRETE MIN. AND
2-1/2" MIN. EDGE DISTANCE.
1/4" SEE ELEVATIONS FOR SPACING.

MAX.
#10 SELF DRILLING SCREW

INSTALLATION ANCHOR 12" O.C.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

PERIMETER CAULK
BY OTHERS

—15/8" DLO—

JAMB DETAIL

4 PRE-SET PANNING
SCREW APPLIED BEAD

3/16" ITW TAPCONS WITH
1-1/4" MIN. EMBEDMENT INTO
3000 Psi. CONCRETE MIN. AND
2-1/2" MIN. EDGE DISTANCE.
SEE ELEVATIONS FOR SPACING.

Il/4" MAX.
AT

#8 SELF DRILLING SCREW

PERIMETER CAULK
BY OTHERS

JAMB DETAIL

4 " 3 RECEPTOR

VERTICAL JAMB DETAILS

INSTALLATION ANCHOR 12" O.C.

#10 WOOD SCREWS WITH 1-1/2"
MIN. PENETRATION INTO WOOD
BUCK (SYP#2 MIN. G=.55). AND
3/4" MIN. EDGE DISTANCE. SEE
ELEVATIONS FOR SPACING.

#10 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

\

|+
L+
o
93
| =

<G\

PERIMETER CAULK
BY OTHERS

—15/8" DLO—

JAMB DETAIL

4' 1 PRE-SET PANNING
SCREW APPLIED BEAD

#10 WOOD SCREWS WITH 1-1/2"
MIN. PENETRATION INTO WOOD
BUCK (SYP#2 MIN. G=.55). AND
3/4" MIN. EDGE DISTANCE. SEE
ELEVATIONS FOR SPACING.

‘-[1/4" MAX.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

PERIMETER CAULK
BY OTHERS

JAMB DETAIL

4 ' 4 RECEPTOR

15/8"

NOTE: REFER TO SYSTEM INSTALLATION MANUAL
FOR FABRICATION AND ASSEMBLY INSTRUCTIONS.

#10-16 SELF TAPPING SCREWS INTO
METAL SUBSTRATE. 3 PINCHES MIN.
PASSED THE THREAD PLANE AND
1/2" MIN. EDGE DISTANCE. SEE
ELEVATIONS FOR SPACING.

1/4" #10 SELF DRILLING SCREW

-L_MAX- INSTALLATION ANCHOR 12" O.C.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

PERIMETER CAULK
BY OTHERS

4.2

BY OTHERS

4.5

2

7

5

DD 6
15/8" DLO—

JAMB DETAIL

PRE-SET PANNING
SCREW APPLIED BEAD

#10-16 SELF TAPPING SCREWS INTO
METAL SUBSTRATE. 3 PINCHES MIN.
PASSED THE THREAD PLANE AND
1/2" MIN. EDGE DISTANCE. SEE
ELEVATIONS FOR SPACING.

#8 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

PERIMETER CAULK A

JAMB DETAIL

RECEPTOR

FRANK BENNARDO, P.E.
PE# 0046549 CA. 9885

o SRS

ot

04/19/2021 J

FL# 38535.1

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

GRAHAM
ARCHITECTURAL PRODUCTS
1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING
FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

04/01/21

DRWN|CHKD | DATE

TAE |AJP

FBC 2020 UPDATE

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

16

13

04/19/2021 - 5:43pm




C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

3/16" ITW TAPCONS WITH

1-1/4" MIN. EMBEDMENT INTO

3000 Psi. CONCRETE MIN. AND
1/4" 2-1/2" MIN. EDGE DISTANCE.
MAX. SEE ELEVATIONS FOR SPACING.

S vw T J:

#10 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

#8 SELF DRILLING
SCREW INSTALLATION
ANCHOR 12" O.C.

PERIMETER CAULK

BY OTHERS
33/8" {—-DLO—
5 JAMB DETAIL
PRE-SET PANNING
SCREW APPLIED BEAD
1/4" MAX.

3/16" ITW TAPCONS WITH
1-1/4" MIN. EMBEDMENT INTO
3000 Psi. CONCRETE MIN. AND
2-1/2" MIN. EDGE DISTANCE.
SEE ELEVATIONS FOR SPACING.
#8 SELF DRILLING

SCREW INSTALLATION
ANCHOR 12" O.C.

PERIMETER CAULK
BY OTHERS

33/8" {-DLO—

JAMB DETAIL

5 . 3 RECEPTOR

VERTICAL JAMB DETAILS

#10 WOOD SCREWS WITH 1-1/2"
MIN. PENETRATION INTO WOOD
BUCK (SYP#2 MIN. G=.55). AND
3/4" MIN. EDGE DISTANCE. SEE
ELEVATIONS FOR SPACING.

#8 SELF DRILLING
SCREW INSTALLATION
ANCHOR 12" O.C.

PERIMETER CAULK
BY OTHERS

rle' MAX.

PERIMETER CAULK
BY OTHERS

33/8" {—-DLO—

JAMB DETAIL

5 ' 1 PRE-SET PANNING
SCREW APPLIED BEAD

#10 WOOD SCREWS WITH 1-1/2"
MIN. PENETRATION INTO WOOD
BUCK (SYP#2 MIN. G=.55). AND
3/4" MIN. EDGE DISTANCE. SEE
ELEVATIONS FOR SPACING.

#8 SELF DRILLING
SCREW INSTALLATION
ANCHOR 12" O.C.

33/8" +-DLO—

JAMB DETAIL

5 ' 4 RECEPTOR

NOTE: REFER TO SYSTEM

FOR FABRICATION AND ASSEMBLY INSTRUCTIONS.

INSTALLATION MANUAL

—

#10-16 SELF TAPPING SCREWS INTO
18 GA. MIN. METAL STUDS. 3 PINCHES

1/4" MIN. PASSED THE THREAD PLANE AND
1/2" MIN. EDGE DISTANCE. SEE
MAX. ELEVATIONS FOR SPACING.

#10 SELF DRILLING SCREW
INSTALLATION ANCHOR 12" O.C.

#8 SELF DRILLING
SCREW INSTALLATION
ANCHOR 12" O.C.

PERIMETER CAULK
BY OTHERS

PERIMETER CAULK
BY OTHERS

A

3 3/8" {—DLO—

JAMB DETAIL

5 " 2 PRE-SET PANNING
SCREW APPLIED BEAD

. #10-16 SELF TAPPING SCREWS INTO
1/4 18 GA. MIN. METAL STUDS. 3 PINCHES
MAX. MIN. PASSED THE THREAD PLANE AND

1/2" MIN. EDGE DISTANCE. SEE
ELEVATIONS FOR SPACING.

#8 SELF DRILLING
SCREW INSTALLATION
ANCHOR 12" 0.C.

33/8" {-DLO—

JAMB DETAIL

5 . 5 RECEPTOR

FRANK BENNARDO, P.E.
PE# 0046549 CA. 9885

o SRS

ot

04/19/2021 J

FL# 38535.1

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

GRAHAM
ARCHITECTURAL PRODUCTS
1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING
FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

04/01/21

DRWN|CHKD | DATE

TAE |AJP

FBC 2020 UPDATE

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

16

14

04/19/2021 - 5:43pm




iy
.

FRANK BENNARDO, P.E
PE# 0046549 CA. 9885

FL# 38535.1

WOD'SSIUIXIDNIYIINIONT
WOD'SSIUdXIDNIYIINIONIO WYL
6666-96€ (998) | 0990-vSE (v56)
ZrvEeE 14 ‘HOvI4G @1314y¥33a

90T ILINS ‘IAV UIZT MS 09T
‘301440 31LVHOdd0D

(0z02) NOILIQ3 H1/Z 3@0D DNIATING VAIdo1d
1VYAOYUddY 3AIMILVLS vATHOT4
ONINMY Y3IAO A3XI4 004919 SITHIS

0018-6%8 (£LT£) ‘Hd
€0%/T ¥d "MHOA | 3NNIAVY 3SOY "LIW TSST

S10NAdo0dd TVdNLO31IHOYHY

WVHVYY5

12/10/¥0

dry

vl

31vadn 0202 084

alva

aMHD

NAMYA

SHAVINIY

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

16

15

SYSTEM COMPONENTS

1.185"

A

|
«£88°0

3.000"

+—3.000"——

«86S°'T

GLAZING BEAD

6063-T5

®

GLAZING BEAD SCREW APPLIED

6063-T5

@

VENT RAIL

6063-T5

®

OPERABLE FRAME
6063-T5

@

FIXED FRAME

6063-T5

®

Bmp*(¥S4 0202) Bulumy paxi4 00919 A9//8€-12\8¥2. usliandov\dwaieoo|\ejepdde\wsofisiosn\:0

waol

wdey:G - 1202/61/70



C:\Users\joem\appdata\local\temp\AcPublish_7248\21-38776b GT6700 Fixed_Awning (2020 FSA).dwg

joem

BILL OF MATERIALS

FRANK BENNARDO, P.E.

04/19/2021 J

FL# 38535.1

CORPORATE OFFICE:

160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

ITEM NO. DESCRIPTION MATERIAL MANUFACTURER
1 FIXED - FRAME ALUM. 6063-T5
2 VENT - RAIL ALUM. 6063-T5
3 OPERABLE - FRAME ALUM. 6063-T5
4 GLAZING BEAD SCERW APPLIED ALUM. 6063-T6
5 GLAZING BEAD ALUM. 6063-T6
6 ALUMINUM CLIP 1/8" ALUM. 6063-T6
7 FIXED FRAME ADAPTOR ALUM. 6063-T6
8 BULB GASKET 5/16 TPE BULB ULTRAFAB
9 GLAZING COMPOUND SILICONE DOWSIL 2400
10 GLAZING COMPOUND SILICONE DOWSIL 995
11 3 PIECE MULLION ALUM. 6063-T5
12 MULLION - PRESSURE PLATE ALUM. 6063-T6
13 CAM LOCK HANDLE WHITE BRONZE BRONZE CRAFT
14 CAM LOCK STRIKE WHITE BRONZE BRONZE CRAFT
15 SL OPERATOR HANDLE ZAMAK SAVIO
16 SL OPERATOR GEARBOX STAINLESS SAVIO
17 GLAZING BLOCK - -

04/19/2021 - 5:43pm

1551 MT. ROSE AVENUE | YORK, PA 17403
PH: (717) 849-8100
SERIES GT6700 FIXED OVER AWNING
FLORIDA STATEWIDE APPROVAL
FLORIDA BUILDING CODE 7TH EDITION (2020)

GRAHAM
ARCHITECTURAL PRODUCTS

04/01/21

DRWN|CHKD | DATE

TAE |AJP

FBC 2020 UPDATE

REMARKS

COPYRIGHT ENGINEERING EXPRESS®

21-38776

SCALE: NTS UNLESS NOTED

16

16




		2021-04-19T20:14:54-0400
	Frank Bennardo




